2020F (—+) B8R 3)L 2:&EBEI B AKEE (BF)

=iz BEERIILIDDVST FI—(6920Yards Par 72)
28 . 3827H((®)
IYVEU—: 104%
HiZ 99
V) &5 FiE 237 V) &l FiE 2327 V) &8l [l 237
1 INRE B 74 (36, 38) AT EABE Fg 84  (43.41) AR HE =0 91 (45, 46)
2 FE3 @A BT 74 (32.42) SR B2 svscrovemsse 84 (43, 41) A —B smx-mess 91 (45.46)
3 JEM 1850  m 75 (39, 36) B =8 ovoz~a 84  (42.42) alllise vvewx 91 (43, 48)
BiE Bhe =2 75  (38.37) 15i% SB0  teavkeavazr 84 (42.42) NG BE AUAEYD 91 (42,49
5 0 F£HE KR 77 (42.35) MB XS B 84  (41.43) A% B8R #UnEys 91 (41,.50)
KE RE @z 77 (41.36) FAUR B 2zt 84 (40, 44) 88 TH ET gmuW 92  (44.48)
£2 91 B72 77 (40.37) NI X J—)urEs 84 (40, 44) T R W)l 92  (42.50)
B ES  reavkeavazr 17 (38.39) HB K& #2 84 (40, 44) 90 BIFIEA &I 93 (48, 45)
we X&E B 77 (37.40) KEF T nTE 84 (39, 45) B —mK AW -mEme 93 (46.47)
B E BEEAK 77 (36.41) 51 ZIREFH  BANI 85  (42.43) WMEZXE %R 93 (44 49)
1 IR EX  KP 78  (38.40) EE EER Awmr-wms 85 (40.45) 93 IR F02 KEKR 94 (48, 46)
MR FT &= 78 (38, 40) PR Bt Rt 85 (40, 45) BS B— 2R 94 (43,51
13 UEEE wrs 79 (41.38) bl 08B K% 85 (40, 45) 95 =M & BETF 95  (43.52)
JIE £RBR o i 79  (41.38) 55 TR KR Jusozeowr 86 (45, 41) 9% B EN = 96  (50. 46)
INE BB teamkeava=r 79 (39, 40) X )65A T I]ES 86  (44.42) AR N— B2 96 (46, 50)
Bl £t B=R 79 (38.41) BN TIE  sscorvomsee 86 (43.43) 98 =FBE BB 97  (48.49)
REB KH =5 79  (35.44) 208 3 Hig 86  (42.44) 99 B 83, J—ILREH 98  (46.52)
18 BEZ BAE 80 (44, 36) B = KEAR 86  (42.44) x5 B9 BiD TRIBER
AT BF =845 80  (42.398) =38 BER sree 86  (40. 46) x5 S5 Hth  ®EWw
BE= i =i 80 (38,42 ks BRE W 86  (39.47) xH BE HFE BR
g1 5 BEFH 80  (38.42) 62 WG 28 o 87  (47.40) xig £ BB xwmy - pwas
08 F e 80 (38,42 BfE £17 @\E-mE 87 (45,42 x5 FOE X @@
oD B B 80 (38,42 b7 N N = =] 87  (44,43)
24 KR B3A sLvz—o2 81 (41,40 BB =R BB 87  (42.45)
AN BT sw 81 (41,40 ER 2 tAVES 87  (42,45)
HE B  Awmr.wmsus 81 (39,42 8 K& &wr.-wms 87  (41.46)
ERAK BRK BE 81 (38. 43) DRIB BIE reamrea vazr 87 (40, 47)
28 O B8 amz-wrm 82 (41.41) REF #i— =t 87  (40.47)
Bt 8  Bex 82 (41,41 B BT 1ew 87 (40,47
A EERA BRENI 82  (40.42) 71 TN BIR =3 88  (42.46)
ARE S = 82 (40,42 YR E— smnHvrU— 88 (42,46
P87 BAABA teavkeavazr 82 (36, 46) 5% [# izl 88 (40, 48)
33 KRB E—8F BHFHY 83  (44.39) 74 IRE BH X= 89 (44, 45)
i R mEmFyy 83 (43, 40) WA 73 iy 89 (42,47
iR B wysEte 83 (41,42 BRIR 8—  =ED 89  (42.47)
g FIE =P 83 (40, 43) 77 U BE— FEMOR 90  (47.43)
ER B =%s 83 (40, 43) B BRI = 90 (46, 44)
WwE sz =i 83 (40, 43) WA ¥R % 90 (46, 44)
HE = TFETR 83  (39.44) ZIR S5  sBAEN 90  (43.47)
40 ABE=E RPeLX 84 (44, 40) =0 B9R  sw 90  (43.47)
B RE 58 84 (44, 40) 82 BN B BBEILZ 91 (47.44)



